A 5H

18 (JK) 2H (X)
w4 BRf —ANEY | @z BR% —A#Hy
ERDE ERDE
= |EBEX(FEHR) 60| |7 [HBEXE®R 55
2 lgax(ED 0| [F [kuE B 5
< |rnz = o |2 [mamik 05
5 |[RHE EHE L |oma messioxm 12
] = ORI b Bl (1 x 1om) 8
~  |EBA UER 20 |~ [BRESHE 1
% [BAKSEIVTF 20| £ |[EE 12
C  [AE 15 [A  [AB 8
% E# 20 \U/ Ty F(1x2x0. 3em) 5
A 5 CRLEBE ke 5
3 06| (4 |1\&— 0.6
4+ (USFm IRE ey 1
2o |L&SW 25 BRI FryT ke 13
=B 18] |E  [9zr8—v—2X 0.9
% |ak 02| || [FEoavus 05
;) IMAZE 25 |2 |&iE 0.45
F  [ERY 20| |y |SL&D 0.05
o |[BPL 20| |3
& |BYyBacHE 1| 1% |45 206
T |[LsSW 23
it ¥ |wbsysre—ux 15
42| 206 A CA)Jovay— EE ke 20
I [m] —
5 —  |Ew3Y 15
H BEBF (e @) ke 25| [z |GB)HR—)La—> 5
»n |EE 20( |1 RERCERLY VY 9
YYEPN. 7| |7
fhF 5 A—av (Em 5
hHE 5.5 ; E A 30
HAZ 50 |+, AS 8
ZTL LA 4 |2 |XBEZ(CET) 7
s 10| |5 |[wEy 3
14 |3ty 0.5
INE 20| |~ ao—!)T 0.1
e w4 1 Y3548 05
(B HBR—T Tke 4
FErayL 0.3
Bt 0.5
L& 0.03
b 120
(B LEVRT4V 25




A 5H

7H () 8H (OK) 9H (X) 10H (%)
X BRf —AEY | |#zz BR% —AHY | (@22 BR% —AHY | |#iIs BR% —AZEY
EERDE ERDE ERDE ERDE
I =EYES5) 60| | |auRsy 50 (2 [HEk(E®R) 68 | |HAX(FHE) 60
< [BEXER R ER 50| |A [HEAX(ER) 75| |= (BB (EHR) 70
% lxaz mm o |5 |arim a5 [o2aaes wm o] # [xaz = 6
XKuE Fit P =B 55 | > |BE 1.5 XuE Fit 7
4+ H | BAEEGH 4 1z [BE 08| |4
3, &5 206 [+ |RIZF(XK)50g 04| |4 |HLE® 1 [z |45 206
N B 0.01
S (BSEnHEE I 50( [~ |#EFTFY 1| [ |45 206| |&  |BeitExamr542) 25
& [dsEoazs F 70 2 2 EE 1
gi ﬂz 43 206 | o[BG xomAS(2) 30 g’)‘ E1d 85
7 |[Fery 25 |* ToTass 0] [ |EZ 30
=% [EWY 25| |y |GRAFAS 30| |y [RSAISS 38| |4 [FrTHA 10
AS 5| |2 | E& 35 |&  [HEWIIFES 25| [z [AZ 7
#w  (BYBCE 1| & |[FU5o94 12| [ |AZ 15| |2 |&£= 15
A LeULi 23| [Z f=I+ D 2K E (R—IL) 10 '? (A) &PV AIFA 500g 7] || ELL=(RSAR) BE Tke 3
b [Le3K 1| |2 [As 0] |2 [455%m 1Y (s 05
A N=F 1 ;|( ELLH(RSAR) RE Tk 4 2 L&5W 4 2 ZFim 0.5
A - |[ERE(A&H5m) 3 |§ |RAEE 15) | |L&SW 3
L |msessecc—siun 6 £ 05 | |#YA 2 o IR kE 1.5
H  |[ALHA 6|l [ |¥35H 0.5 Bl 15| |[tg  |[AAREZ—Y—R 1
A |EE 25 L |@&®)HsBR—F kg 4| [B TARA 05| |FE [FExraLUA 0.5
e UM (RSAR) B The 5| |& L&SW 2| |Y "8 8 @ ThSRA 0.7
hhE 5| £ [BE 1] |& A 3 20
Lad 0.6 T FrxoaL YA 05 g TELYDHA ol |
BiE 03| | |BIE 02| |3 KR 30| |5 3L 35
HIVET =LA 4 |lo |EL&S 0.03 EpdY 15| |y |Ew3Y 20
HLE®H 1|14 B 120 A 5| |7 |AB 5
7K 130| |5 Nd=}; ] 2| |1 B (FAYY) 0.2
(LR ECHHE 10 TELEE 15| [B  |[@womemrysyy 10
HARF—X (amf) R 5 BEE 15| [~
Fo_yY 20 LeSK 03| |F [pay 5
(#)Jovay— EE ke 15 Big 0.1 7—ER (D) 4
(BL)ULE 1.2 i=f: 1
Bt 2.8 L&Sp 0.3
L&SW 15 HYA 1
Y54 1 7K 1
i=} 0.8
L&D 0.02




A 5H

138 (A) 14H () 15H (k) 16H (K) 178 (%)
iz BEmf —ANEY | [#iz BRnf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#zse BR% — A&y
ERD=E EXRD=E EXRD=E EXS=E EXS=E
E—j BEXER 60| [/ [(BEX(FF) 60| |# [(R)hEDHA -3 50| [K [R#y 50 i BEX(EE) 60
X |gesex o5 |V [@BEXEH) 70| [T [@®FEDHA a6 200| ¥ [km/ss 50| |=  (BEX(ERD 70
= o wascm 12 |2 [xz s o |7 [weEss B _250] |1 e
A (R BA HH-EHL( X 1om) 8 X XHE RH 7 X |BARLGExMRSAR) 25 £33 206 XHE FEH
EE | [z o |[EE 1] |
4+ [T 5| [~ [#B(3x3mRTIR) 25 L&KW 08| |7, [mm m-muLx2m 6| [z |&EL 206
2, (LM WHESYHIR 15| |& | E& 45| | |y 30 B L4 BAL (2 x 20m) 4
. AS 5| | Cehig 45( |2l |EL 150 &£ |emeoror—remiem I - T — 50
S |y55m 1| |F Az 10 AZ 0] ¥ [B&ET 1ke 3| |2 |£= 0.4
; L&5K 3 i’ TULE( x3%0. 3em) 6 :C“) =t DTIKE (GR—L) 10 g‘; Cohirg 50 ; Bl 1
z =] 1 |4 M IYVE—R 6] | fhF 5 |5 ¥l 45| |2, TASRA 8
& 05| |z |I2AlX 03[ [,y [2AI=X 07| [ |AZ 15| |z |Gf=tail 5
L ry: 1 [& [SFH& 1| |1 AN ) 05| [v [BYBZE 1
A [EE 206| |7 |/NEHR 5 | |&®ABsR—F 1ke 4| |& B35 1| || b HE 4
it A |nE— 3| [IE | k&% 6.5 BARESHE 2| | R |@rerrFvyd ke 3
] 30| 1Y 455 2| |5 [BE 15| | [Ledw 12| |7 [=Em 15
’4‘ INAEE 25 ; (B)FIPE1—L kg 15 ‘7; N=F 1.5 iE =B 08| | B 1
+ AE 5 | (B)FThKE 1ke 10 5 FEray At 05 | FEray Lt 05| |y H=wh9 58— 0.04
v [BYBSE |l [Br52—F 1ke 3 |z |BiE 03| |¢ |BL—=# 03| [y |& 8
7 | RERLyLLY 8| [ | ESESHE 2 ) 003| |» |BE 03| |1z
L S5 [9rRA—Y—X 2l (2 |EHRE 01| | [SL&S 0.03| (L [BIFLKR 4
BARS (2 X 20254 R) 10| % |&& 08| |= |TARA os| |V (B 25| | K [EwSY 15
& 1 “LeS 007] |F & 125 T Y 5
EoFLE (2omf) 40 El’ FE IR 05 : (LR EH5E 15 g @ FroBrL Y 10
pid AT 3p) 1 |y =} 0.5 43 206 INREE 20 |5
DECAITEL ) |2bL#p 015 |5 HoL 20| |, |E& 20
AS 5| |+ o—yJx 01] |1 S0FELL (2emf) 50 AZ 10 |  |uookEdEmy) 15
+£1OL 5[ |~ EYHAF—X 3| (X |&f=4aiH 4 TYLE( x2x0. 3cm) 10 ADEIT 5
FhE 51 [ & 80| |~ |l&BHD 3 Y5455 1| |19 |z 5
EHT 9| @ T |[=EE 1 EE 05| [B [FLbhod vk 0.5
EFL LA 4 |* [Fm 206 2 B 0.6 LeSK 0.2 E LeSK 1
Kk 10| |~ (ST 05 Bk of] |4 [EE 1
FARINSHR 25 K 1 cL&S 0.03 Big 0.6
[CEDN: 3= IA 40 Ep3oY 25 BIYET LA 4
(F)R—)La—> 5 Sl 4 30 HLEHR 1
() B ERERLyL vy 10 7K 135
(B)F—X $kiait 13.5
(&)3—5 )Lk 70




A 5H

208 (H) 218 () 228 (JK) 23H (K) 248 (£)
iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
ExRHE ERHE ERHE ERNE ERDE
TERXER) 50 (B [d@fss tas) e 57| (S |HEEK(ER) 68| (£ |[HAX(E 60| [E |#Ek(BK) 55
Rl =Y 10| |/ UB) £/ % Gy ) thoss| (& [HEkK(ER) 75| |= |[HEEX(ER) 70| |2 |RHE B 5
B [mmex 05| ¥ v stk os| | [z ma 7 [miex 05
g‘_ HER (1em&EY) 20 % 42 206 4 XHE RiE £ [owms wmstoxom 10
- =1+ DK E R—IL) 10f (& 3, 43 206| |4 A |ommm temmLc <im 5
#» |AB 5/ |y |RETFL0N=D) 35 g, |43 206| |y |EAESHE 2
Z [BeERE ke 5| |- |WTIE 13| | |BAKEIVF 15 - |EE 15
& |dhhFE 5 $BHE A2+ —Fodit (1om) 15| |2 [EE 2| 1B |ors —oporirsnues 40 TULE( x 2x0. 3am) 5
Ao ¥58H 1| [ [r=avGam) 1| |2 [owmmr o 50| |b [fartait al |F [meErE ke 5
. |CEE TNES: 40 ’; EX o |2 |[@aF 2| B [y55m 1
g |LE3R 3| |2 [AZ 10 |3 [Fxravd 20 /‘: B 3 g [FErAVYL 0.5
+i ey N = 7
b P ] 4 [,5  |zuzaxsxo 3m 10|, |AZ 10| i [L&SW 22| |z |BIE 05
z | LB 08| |5 [E—==v 5| (4 |fBOKEGR—L) 8| (4 | LB 22| |5  [SL&S 0.06
+ BiE 03| [T I2AIK 03| [~ |grunkr@s ) mE 1k 2| |2 HYA 08| |4
Y 1 |[H55H 2| | &= 06| [T |—=mk 001| |7 |42 206
7 |&w 206| |7 |@wmrzrea—u 1k 13 |1 [izal< 0.2 K 11] |
2‘1 75‘ I FryT ke 7 gi CFH 0.8 E 7 TRy 25
P . e 30| |5 |RAESHE 4 |z R 2l |5 |MZELE 20| |, [Ew3Y 15
5 |RFEVIRAES 15| |, [2RE—=VY—R 15 [\ [FEaPVA 06| | |BIE 07| |y | ER—LI—Y 5
n |Ew3Y 10 FExoayH4 03| [= |L&3W 22| |15 g | (B BEEIVIR 1
¥ |(®)h—)La—> 5/ 4 [&iE 02| |& |kHE 3| |EE 25| | | (B ELZRLyY Y 8
7 |@smcErLysy 8| |# |SL&> 0.05 HRE 003| (T |HigH 7
¥ U gF—x 3 |12 [casa 1 ) 13 Aoy (B91Y- B 10
5 KL RN L () R 7 Z z)‘ ol 20 Z DEZAIZHL 10 E‘ BLAIFABA=AR b 15
+  [Wh5F501ke 25| |3 |[Ew3Y 30/ o y  |AZ 1| |y [Leditg 40
5 | EE 30| |5 |wmva- @E 1k 15 oL 30| |4, |PRE 5 |] E:d 30
= | FHUHA 1| |& | FEAATUH 5 EpdY 25| [+ [L&IW 2 AS 10
F |[E—7v 5 (/) R—)La—> 5 FARINSHR 10 BiE 0.5 JAS ) 0.5
< =B EAYY) 05 ) 15U F ULy 8 AS 10 BlVET =LA 4 BS54 3 05
{\ Y545 05 (BB RBELy LY 10 HUEf 1 INa— 0.5
q)] () HBR—F kg 4 K 110 (%) HDR—TF 1keg 4
£ (L&KW 0.5 BAESHE 1
z | FERvavIA 0.3 FEaAYH 0.6
[ BiE 0.4 Big 0.4
7 [SL&S 0.03 L& 0.05
CFEH 0.1 I—VRA—F 1
& 110 SRR L 30
= 65
(@) mEEY— 40




A 5H

278 (A) 28H () 29H (K) 308 (X) 31H (&)
iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
ERS=E ERN= ERN= EKRN= EKN=
B (BeXEH 60| |& YR 50 % BEX(ER) 60| | ¥ [HEk@E®) 55 % BEX(EFR) 60
T [BaxEH 70| |V [3wRiy 50| |-~ |HBBEX(ER) 70| [& [REE 8K 5[ |- |[HBEX(EE) 70
i KHE B o| |2 % KHE EH 6| |7 [saiesk 05 ‘z KHE Ei 6
A XKz RFE 7 5 BRI F 20 XiiE RHR 7 l:t FRASE (2 X 200254 R) 15 XHiEx Rit 7
5] W FRIVTF 100 L A HE 08| |4
~  |me sl (2 x20m 15| | |[(WhUEhYAT ke 15| | (LR LLAEE 10| |~ |EHAE 08| (3L |4EL 206
%= [mm te-muLexam 10| || E# 20 | = |HEXLF ke 15
= | EE 11|y |As 10 [ (43 206] | A |AZB 7| |& [me m-guLEx2) 30
& [zzmp 30 T' E—<> 4| 2 Yoo [tEE ke 5| [V |me tt-msLexe 20
f E¥: 50 1A= 0.3 75_ BRAVE (2 X 20mR51R) 25| [T [SEw 2 5‘2 AR 1
AS 15| |4 |[(SBOFVRAR Tke 5 |= [BE 1 4 |AE 2l 1D |CASA 6
4 |PRE 5| |3, [@rerrFeyT ik 8l |7 |[Cedird 80| |z, |LE# 12| | |Hftaid 5
3, | RS R RE ke 4 JARE—Y—R 2 | | E& 40 L&D 1.2 [ |owLzomst miE-s0g 4
L&SKW 45| (B [FESESHE 05| [l [|2EZAITRL 15| |& |BiE 01| (v |LBE# 3
N BYA 3| & [&& 0.2 AZ 10 |[*  [FErarus o5/ || [Lesw 22
AL 2| | [hEs 1| [A [maevairs soos 8| L [wyBcE ARGEER 1.5
(i B85 05 ’_f H 54 3 05 L\; S5 4 3H 2 ? {37:
5 |TASA 05 [ o [LESR 35/ |7, [HFE 206 ELNIIFES 25
o |HIVET LA 2| | &4 206 A 25| |, - |Ew3Y 15
» & 60 ] 1 1L 35| I |[AB 10
Z F | R—ar(ELY-E) 10| [ |i& 5[ [k =p5Y 10 |5 (E)R—ILa—> 5
CREE] 26| || |2 40| | Yo MR 10| [V |m@emcsrssey 8
2 A [Ty Y 30| |®  [x# 20| |7 [Az 5| |7
5 [B@DATS Em 5 oY 25] 1% 203y 15 {)\ ORI LAy o] ¥ [amiF 5
% Fp5Y 15 AS 15 o |emzbesusnysooss 10 H 5 E&E 30
g |AZ 5 Ay 2 A 5 |4 |Hevzoscam i 5 [ [V 20
[ (32) R A4 B 0.5 A 0.7 wYBaE 1| | [byy BEEXER 20| [ [ROEET 7
A (B ERBRLYLLY 10 Y545/ 1 (B FIDBFL YT 10| |& B 20| |42 |[ptaFE 3
z (%) H5R—F ke 4 | [hha® 3l (¥ [kaz 55
(A KEKE 20 85 05 7 [Fubh o (huh) 08| | [gaz 5
TASA 1 cL&>S 0.03 _  |y55m 05| |#  |[&FL £LE 4
fit=1ail 2 FExavyi 0.3 i (B HSR—T ke 4 ?r 7K 110
BEAFTELH 2 B—yzT 0.1 - L& 08
RIZE (3K)50g 0.1 F 65 1y BiE 0.5
=B% 2 v |CL&S 0.03
BiE 0.01 (B) %+ 7 F—X 5g Hikit 5 FXoa A 0.3
CFEH 0.3
b 140
CENEE P 40




